
Statement of Work 
Hardware USCGC KIMBALL DD FY23 

 
Provide the following hardware: 

Item Description Material  QTY UOM 

1 
WASHER, SHOULDER, .386"ID X .484"OD X 
.375"L X .875 FLANGE OD X .062 FLANGE 
THICKNESS, 12SWS3514 

NYLON 16  EA  

2 WASHER SHOULDER, .375"ID X .5"OD X .188"L X 
.063"THICK, 12SWS2556 WASHER USA NYLON 376  EA  

3 SCREW, HEX HEAD, 1-1/2"-6UNC-2A X 6-1/2"L NCA, ASTM-F46B  124  EA  

4 NUT, HEX, 1-1/2" UNJC-3B NCA, PS-16-FT-02  124  EA  

5 NUT, ZINC-PLATED STEEL, 3/8"-24 UNF   4  EA  
6 LOCK (TAB) WASHER, 16 GA, FOR 1-1/8" BOLT SST 316 32  EA  

7 SCREW, HEX HEAD CAP, 1-1/8"-8 UNC-2A X 3 LG 
WASHER FACED 

HVY SST, ASTM 
A193, GR B16 16  EA  

8 NUT, HEX, 1-1/8"-8 UN-2B, WASHER FACED 
HVY SST ASTM 

A194 GRADE 4 OR 
7 

16  EA  

9 LOCK (TAB) WASHER, 16 GA, FOR 1" BOLT SST 316 32  EA  

10 WASHER, FLAT, ZINC-PLATED STEEL, 3/16" THICK 
FOR 5/8" DIAMETER BOLT   4  EA  

 
 
 
Ship to: 
USCG SFLC LRE Product Line 
400 Sand Island Parkway  
Honolulu, HI 96819 
ATTN: LT Alexa Ward 
 
Required delivery date: 01MAR2023 


